2023/TDC(CBCS)/ODD/SEM/
BOTHCC-502T/ 144

TDC (CBCS) Odd Semester Exam., 2023

BOTANY

( Honours )
( Sth Semester )

Course No. : BOTHCC-502T
( p}ant' Physiol QQ . \Q
Full Mark_s\% \O‘ o
20\{\, '

_ .Pass M, : it e
- - Tir ého _ '
The figures in _ indicate full marks

@’ %CTION—-A
Answer ten questions, selecting any two from each
Unit : . A " 2x10=20
: ©UNIT—I

1. What is water potential? What is the unit of
water potential?

2. What is antitranspirant? Give one example of
antitranspirants. '

3. What is guttaﬁoﬁ? In which type of plaht can
this kind of phenomenon be- seen?
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UNIT—II

What do you mean by facilitated diffusion?
Give one example.

Write the importance of Mg in plants. ;

Differentiate between " active ‘and passwe
transport.

UNIT—IIT |
Define ‘source’ and ‘sink’ in plant. ; 0
Why is translocation ‘in phloem importé.nt? . é

What are the components of phloem sap? é\

Who discovered gibberellin?
function of gxbbereIIm

UNIT—V
What is florigen? Write its function.
What is vernalization? Write its importance.

Write two me!hods of breakdown .of seed
dunnancy
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SECTION—B

Answer five questions, selecting one from each

Unit :

10x5=50
UNIT—I

.lth the help of suitable diagram, describe

Q hanism of transport of water in
? plan hat is symplast? S5+1=6
Q & short notes on the followmg 3+3=6
' Q\ (a) Root Pressure Theory '
Q (b) Aquaporins
UNIT—II

18.

19.

20.

What do you mean by electrochemical
gradient? Write, in detail, about the
mechanism of transfer of ions across the cell
membrane. 1+5=6

WI_'ite the role and deficiency symptoms. of
Zn, S and Mn in plants. What is necrosis? 6

UniT—[1
With the help of suitable model, describe the

mechanism of transport of photosynthate
from source to sink. 6
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21. Describe the mechanism of phloem loading
and unloading with suitable diagram. 6

UNIT—IV

22. Write about the cellular and physiological
role of gibberellin in plants. ‘ 6

23. Write the role of the following hormones in
| plants : . | O 3+3=6
(@) Abscisic acid FQ

letiyirs - NP
(b) Cytokinin O\

24. Write notes or@'xe foygﬁ 3+3=6

(@) Phoﬁ)@:hsfikg

(b) C@ chr es

25. What is ytochromes? What are the

~different forms of phytochromes? With the

help of suitable diagram, discuss the mode of
action of phytochromes. 1+1+4=6

* K %k

: 2023/TDC(CBCS)/ODD/SEM/
24J—380/160 BOTHCC-502T/ 144



